L] CASBEE- 201

1 . CASBEE-NCh_2010(v.1.8)
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24 3.2 0.19 =
1 3.0 0.20 s
2 3.0 0.20 s
3 3.0 0.20 s
4 3.0 0.20 s
5 4.0 0.20 s
3 2.8 0.29 3.4 1.00 3.3
31 s 3.8 0.50
1 301 = 5.0 0.60
2 s 2.0 0.40
3.2 - 3.0 0.50
33 2.8 1.00 =
1 3.0 0.17 s
2 2.0 0.17 s
3 3.0 0.11 s
4 3.0 0.11 s
5 3.0 0.22 s
6 3.0 0.22 s
Q3 0.30 - - 2.8
1 2.0 0.30 - 2.0
2 3.0 0.40 o 3.0
3 3.5 0.30 o 35
31 3.0 0.50 =
3.2 4.0 0.50 s
B 8
LR1 0.40 - - 4.7
1 5.0 0.40 - 5.0
2 3.5 0.20 s 35
21 3.0 0.50 =
2.2 4.0 0.50 -
3 5.0 0.40 o 5.0
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4.1 = =
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LR2 0.30 - - 35
1 3.4 0.15 - 3.4
11 4.0 0.40 =
12 3.0 0.60 =
1 3.0 1.00 s
2 _ _
2 3.6 0.63 - 3.6
21 3.0 0.07 -
2.2 3.0 0.24 -
23 3.0 0.20 -
24 5.0 0.20 -
25 3.0 0.05 -
2.6 4.0 0.24 -
3 3.3 0.22 o 3.3
3.1 4.0 0.32 =
32 3.0 0.68 s
1 - - -
2 3.0 0.50 s
3 3.0 0.50 s
LR3 0.30 - - 3.1
1 LCCO2 90 3.4 0.33 - 3.4
2 2.9 0.33 - 2.9
21 3.0 0.25 =
2.2 3.0 0.50 =
23 2.7 0.25 =
1 3.0 0.25 s
2 3.0 0.25 s
3 2.0 0.25 s
4 3.0 0.25 s
3 3.1 0.33 = 3.1
31 3.0 0.40 =
1 3.0 1.00 s
2 - _ _
3 - _ _
3.2 3.0 0.40 =
1 3.0 0.70 s
2 -
3 3.0 0.30 s
33 3.7 0.20 =
1 4.0 0.70 s
2 3.0 0.30 s
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